EANRAROBREIEHRT — 2 N—XBISYH —F 2014512848 (K) 20EEME3A

M C2= Yo% 3m. L ‘ (x42] 7 ‘ [3eEmsh]  — |4 (@) 14000 TR
[AE£] 1% :250,000 ™ ~ 2%&:45,000”  37%&:22,500 W  43%&:12,500 53 :7,500 0
B\ BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N e ALEE :28. ~7-5- . — TE¥v (BH
115l 5|2=HvaTLLF 3 ZH 1(2_8)3 6-7-5-4 | 38.3 6 (4_929) Bz B8
L:24¥Yv ML B:xv0lLTIHKR— I=iatie]
. sy T2 :28. 44~ 0| — BEERER (EM)
2 4| 7 —>FTIN 3 I (11 218/25) 4-4-4-3 | 39.0 4 (i?;) e
:772YI7 B:ACFXZ2KLZ RIS
. a0 . —q—q— — IWR#=E (k)
slzlg| 7E2AL b i 3 = (12218/29> 1-1-1-1 | 39.6 2 <4+744> Lose
L:THAF)v—Ib B:YLF—T1R Bl 1E
= = s 4 6 | EllEt 1:29.3 10-9-7-7 [38.2| — 7 502 | #)I¥EA (ER)
4 3714779 56.0 21/2) 1) FRHE
LT S— A U= B 7O-5 AT FR AN
N = AAfE :29. —-6-6- . — TR (EE)
s 2|77VT T - R e | TR P& T mmar-ga
LT RIA Y L—> B:42YIFEYUD BIE R
o0 ihE :29. -3-3- . — KR (FiH)
slaliol wr—2-vz1s 4 3 pil (11219/27) 3-3-3-6 | 40.2 5 (5:36) i
L:y+—%2—-Y—9 B:EyIaTLAv— RAREHS
L e . 11— _ HeEx (FakR)
711 1{<7ﬁ?f s Mf L%ﬁ a2 407 1 :% %&%
LY ISRy F— B /9y bATEIRZRX HET7—L
3 6| XUTT—I # 6 s%iﬁg%ui 1:(350).3 8-8-8-8 [39.9( — | 8 ff) EEEE@E)
R:N=YI51 B:T7NNO—X J—HTr—L
TN N = iE— :32. -10-10- . — IRHKE (FhR)
ol7|7|arTxvan— it 3 [ 1(372)0 9-10-10-10 | 39.9 10 zzg? e
RTI2TE— BigAF ah— +tE B
i 3 | ABEEF 1:32.4 5-5-8-9 |42.0| — 9 428 | ABE= (EMH)
1o|g|9 | ER/AT—H 54.0 2172 Cy |FRUET
LZgr T M —T7—K=K B:INWN-NFZIZX @l E—
® 1—F—@EBIERL
1T=7r= 8,1,10,4,9,5,2,6,7,3
23—F— (1,8),10,4,9,2,5,6,3.,7
J=7"= (1,8),10,4,5,2,3,(6,9),7
43—+ — 8,1,4,5,2,10,3,6,9,7
[ /N
B 5 1,120 74K 4-5 760 B 4-5 3,380 JEE 4-5-8 2,920/
B B 5 240H 5-8 670M B & 4-5 2,960 JEE 5-4-8 32,080
4 120 4-8 340M B E 5-4 7,570H
8 140/

ABICOVWTRDTEEERROODE. TR LIV,



